ProColor Series1 Wall Mount

1. Product Information

Weight : 2.84kg

Applicable Hanging Sizes : 32"~90"
Applicable Hanging Weights : ~100Kg
Distance from Wall : 40mm

2. Parts List

Please check the following list and compare it with the components you received in the package.

Confirm that you received all parts in the package.

You should not replace any defective parts. Contact your supplier to obtain any missing or damaged parts.

m@%mé@)@

(C) 25*26 Shim (4) E) @8 Plane Washer (6)

(A) Self Tapping Screw (6) (B) Plastic Anchor (6) (D) Plastic Sleeve (4)

Installation Instructions
|STEP-3

Install the bracket to the rear of the
display.

According to the holder spacing on
the rear of the display, choose the
appropriate screws and washers
and fasten the bracket

INTERACTIVE LCD

@@@e: e —

(F) @5 Lock (G) @6 Lock (H) @8 Lock () M5*30 Screw (4) (J) M5*15 Screw (4) (K) M6*30 Screw (4)
Washer (4) Washer (4) Washer (4)

Q]l@ ||ﬂ]||

(N) M8*15 Screw (4)

(St asssssasnnsssasss]

(L) M6*15 Screw (4) (M) M8*30 Screw (4) Wall Plate Hanger Bar

3. Installation and Operating Manual
Caution : Read these instructions fully and carefully before installation. 0

It is not possible to install
this unit on drywall, unless
the drywall has been
strongly reinforced under
qualified engineering
supervision.

The wall plate should be aligned
and installed on the wall according
to its level.

Plate firmly fixed by using the (E)
Flat Washers and tightening 6
Tapping Screws, 1 into each plastic
anchor

M Securely install the bracket and
hang the display on the plate fixed
to the wall. Depending on the size
and weight of your display, ensure
there are enough people capable of
moving it into position.

Release the display from your grip
only after it has been fully installed.

~

INTERACTIVE LCD\__ _/

L,
Islslsislsissslslsli
/]—[ [

.

)

£

HHAHHFFHAAS
()\\\
/J/

Installation is completed safely once
the fixing bolts have been
tightened to their ends where the
bracket meets the plate at the
bottom rear of the display.

N e

INTERACTIVE LCD

The customer/installer is responsible for selecting and providing wall mount hardware. The plastic . B OX LI G H I

mMimio.boxl Ig ht.com anchors provided should not be used unless they are clearly determined to be suitable. . . m | m | o




